2

) x=~3 y=-0kE,

3

] =
—%- (d~y) — (% +—‘2)—y) L

crnt

) S=:hlatD)% bl TS 7 X0,

2

AV

st

@) T 20Mo) T i, LEOMADI S %y ME W, 1000 T o/ b 2B,

TR ol ZOLED DEfE e PERNTHEL RSV,

i EEI

AEE

()72 B CF M ()

IR B,

O Bty=-20100WT, x O 2546 D& &, vy OTH R RO X,

JJT ] }L','H .
YUER 32T
7} =7-(~4)

() 204 —3y) — 3020+ 3y)

() 244" = x29° X Duy

o)

3r+5y  2x-—y

4

3

Boh



é/Q \> 92()8 i/d%;) |
QUkwioy  7A) B O (BR) -4 Aot

(7) x=-3 9= ,%@&:é. “é—(fh—y)—(x+~g—y)0){|"ﬁﬁiij'€éb7&éwo

I

. S

H)S:%h@+w%bﬁﬂwfﬁ%&éwo

() 1MEI1I20M ) Tz E, 1TBESOMHDI D > % v BV, 1000 AL T3 - 7=
TR ode TOLEDHEROBEEAERTE LR SV,

120)( B0y <1000

LA, BoY

() Fl]ﬁy——Zm Iz, 10)7T1j47})>2<,(<6@&é y@ J“l&%?ﬁd&’)?&éwo

__’2< (/Jg_-lf.

UES SRS
(

v QS Y | (¥) 2(4e—3y) —3(2x +3y)

-8 21-15Y

_Z+F : () 244’y + x9® X 2y
b
o 48y
|2
_ 3x+5 2 —
(%) 2%-3y—3r+2y ) 4 . x3 .

= X119y
_ | 4




